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@ y=—2x*+x+2 (xfl77 1m0 —2, yiih /7 Fic —5)

@ y=xt—x+5 (TR, yllf 1)

@ y=2x"—x—1 (xiih77mic2, yfismic —1)

@ y=3x*+3x—1 (@77 MmIc—1, yiih/im1c3)
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® y=—x*+2x—5 (Jfis)

© y=x"—4x—3 (ytil)

@ y=4x*—3x+3 (xily)

y=3x*+2x+2 (xiil)

©) y=3x*+x—3 (5 5)

y=—3x*+2x+5 (yiify)
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y=x*—3x+8 y=3x*+9x+8

B ROBIRRD 777 7 Z46E S NI EMPL FICB L THHBEIS 2 & &, BEIROBWIMO T2 KD X,

B y=—x*+2x—5 (i) y=3x*+2x+2 (xifil)
y=x"+2x+5 y=—23x*—2x—2
® y=x*—4x—3 (i) © y=3x"+x—3 (i)
y=x*+4x—3 y=—3x*+x+3
@ y=4x>—3x+3 (xIiff) y=—3x"+2x+5 (yHi)
y=—4x*+3x—3 y=—3x*—2x+5




